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1. RBREBBEOL
(1) #BBINE 2,131,153, 000 2,088, 279, 000 42,874, 000
REINEE 2,131,153, 000 2,088, 279, 000 42,874, 000
(2) ¥BEER
EXE 2,115,552, 000 2,073, 678,000 41, 874, 000
=gy 18, 601, 000 18, 251, 000 350, 000
BREER 2,134,153, 000 2,091, 929, 000 42,224,000
LHRRE RS -3, 000, 000 -3, 650, 000 650, 000
2. RBENEBOE 0
(1) #BEHINE
FE S INIEET 0 0 0
(2 #BESNEHR
BENERE 0 0 0
LHRRRE S EIREE 0 0 0
L HA— AR IE BRBA EE 1B RIEE -3, 000, 000 -3, 650, 000 650, 000
—REKMEHERS 6, 729, 000 6, 289, 000 440, 000
—RIERBIEHRES 3,729,000 2,639, 000 1, 090, 000
I EFIEKRIEEBOE
L HAIE TE IE R BA EE 1EIREE 0 0 0
BEEGRMESRERS 6, 300, 000 6, 300, 000 0
BEEGRMERRES 6, 300, 000 6, 300, 000 0
I ERBAEERES 10, 029, 000 8, 939, 000 1,090, 000
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1. BEEEBOH
(1) BN
BN st 2,115, 552, 000 0 15, 601, 000 2,131, 153,000
2) ®BEEMA
EE 3 2,115, 552, 000 0 0 2,115, 552, 000
smE 0 0 18, 601, 000 18, 601, 000
BEEmH 2,115,552, 000 0 18, 601, 000 2,134,153, 000
L AR AR 0 0 -3, 000, 000 -3, 000, 000
2. BENMEFOE
(1) BEsURZE
BE s st 0 0 0 0
2) ®BENEA
BENE At 0 0 0 0
& AR S AR 0 0 0 0
24 HA — A% IF Wk BA 22 18 48 0 0 -3, 000, 000 -3, 000, 000
— R RS 0 0 6, 729, 000 6, 729, 000
— R RS 0 0 3,729, 000 3,729, 000
I $55% ERKEAZE IR O 85
2 HA 5 X IF Wk BA 22 1 48 0 0 0 0
EEEGRMENEES 6, 300, 000 0 0 6, 300, 000
EEEGRMENRES 6, 300, 000 0 0 6, 300, 000
M ESkBAESRES 6, 300, 000 0 3,729, 000 10, 029, 000




